DATE: 04/09:96 TIME: 21:11:54
DESIGN FILE: I:N\ligo\sitel\ee\wae406. dgz

from

consent

written

not be reproduced, copied, loaned, exhibited, or used in
except by

any other way,

PARSONS fo the borrower.

—MOLDED
LETTERING

&)

EQUIPMENT OR

borrower's expressed writfen agreement that they will

This document and the design it covers are the property
of PARSONS . They are loaned only with fthe

[RY}

el

PARNIWELY § SRR U SENF AV I F SRR S SO S B 0

i I .  STRUCTURE /}”
: | i DRILL HOLE N e
: COPPER BUS, 3/8"X 2"X 24" L LMy L YESTER, PORTLR | ! / i N ©
i (TYP 4) . ! COVER TOP VIEW ~ N I
| | T11T{ I 111 = — (1 i
1 e o 7" L8 12" N\ i A Z! PLAN
I L/ ; BOLT, DURIUM, HEX 6" HEAD | ! I 7 7 LAV,
i | 1/2IINC X 1°16 WITH \ _ i 7 Z
- 1 i LOCKWASHER, DURIUM, SPRING, — : ®___. 7 ¢
i (/ \) {/@j 172" S, It ~ i ? ? ~~\/L\
, { ) QS 7 Z ~
g ~ 2 2
i ~ = - #2 70 FOUIP'T - v % | STEEL COLUMN
I o) I - INSTALL GROUND ROD b JGAO?UL?A%/Z'%U?%?N éggffw Ly /_%
i o '\ i o~ OFF CENTER FOR ACCESS—\ ) COPFER 1#1/0 CLEAN STEEL )
I | . I { W 70 BRITE METAL #1/0 STANDARD BC 70
1 ~ BURNDY = OAIC-B ! N | L WAIN GROUND GRID -
i o O~—1— DRILL HOLES = i B L =¥ DETAIL -1 DETAIL-2 /
i S AS REOD N i ) ——— GRAVEL a7
i S~ S ' BOLT, LOCKWASHER i ©f OR CRUSHED SINGLE CABLE TWO CABLES
I = 3 I 1 7 ROCK————\ > T0 EQUIPMENT TO EQUIPMENT
- N ¥ AS REQUIRED | 3 3% i34 S M
i & Q% © Q- 3 (‘}‘ ° o0 v0 > T
i 33 S‘g 1 ( :>—3:——_: 5 ‘ (:>——————- % o
I & S TERM, BOX I J 3 L1
! I3 HOFFMAN *# 1 @ @ !
I = O H X 24W X 8" ! |
! O, = SIS JoH X 240 £ & ! = (UNPAVED AREAS) £ FVATION
i L=~ = - MOUNTING PLATE i D CONDUCTOR
! Q) @) {H=| |<H] H STRANDED COPPER
: = =~ i 1#1/0
| 9] O : ;
BURNDY I : | i LIST OF MATERIAL LIST OF MATERIAL LIST OF MATERIAL
#, - - - | I B ,
OAZ6~E i g o Boror ! ITEM) ory DESCRIPTION IeM\ ory DESCRIPTION e\ ory DESCRIPTION
i 4170 fm% ] / /| BROOKS #9 CONCRETE COVER WT=1/ [BS WITH 9 GAGE RE-BAR / ! | BOLT, HEX HD SST (SIZE AS REGD) / /| CADWELD MOLD *HDVBC-2C
i ™~ B i 2 ! | CONNECTOR 3 WIRFS X 3/4 "GROUND ROD BURNDY *GK6426 2 ! | NUT, HEX, SST (SIZE AS REQD) 2 ! | CARTRIDGE STANDARD POWDER 200 GRAMS
i 1 3 | 1 | BROOKS #9 BODY (9'DIA X 24" LONG! WT=49 LBS J I | FLAT WASHER, RD SST (SIZE AS REQD)
4 | 1 | GROUND ROD COPPER-CLAD STFEL 3/4"DIA X 100" COPPER WELD 4 | I | LOCK WASHER, SPRING SST (SIZE AS REQD)
MIERS HUB STAG-5 i | ; 5 | 7 | SERVIT POST, TWO #2-#1/0 WIRES SHORT STUD BURNDY TYPE K2C25
! 1/2C. 121/0 (GREEN) TO MAIN FACILITY GROUND 6 ! | GND CONNECTOR - STRANDED BURNDY QUICK LUG GA
OR TRANSFORMER NEUTRAL 7 | 1 {mun 172 =15 HEX DURIUM
SN 8 ! | LOCAWASHER, 172", SPRING, DURIUM
1
GROUNDING CONNECTION BOX (1 \Rer GROUND WELL /2 \ger EQUIPMENT GROUNDING (3 \ReF EXOTHERMIC WELD TO STRUCTURE /4 \aer
N.T.S. \—/ N.T.S. \—/ N.T.S. \—/ N.T.S. \—/
9 | |
—-— === 5 - ET=y—- ¢ CoNpUIT
[ DRILL ANGLE 9/16" i
(TYP) T
VCLOSURE | GROUNDING CABLE
[}
0060 5
GROUND co/v%gox? HANDHOLE :
_ GREEN INSUL
O A DRILL 5/16" STRANDED COPPER WIGE A5 NOTED ON FLAN
e‘ SIZE AS SHOWN ON PLAMN,
™ @ GR 1 1/2"X 1 1/2"X 1/2"
y oeoe PACK W/SEAL GROUND BOSS W/ 3/8'-16
. (TYP) THREADED HOLE (REQUEST
N co00 I Tooa] P2 RLACE FROM' THE POLE MFR)
GROUND CONDUCTOR, | NI N— DRILL 13/32" — Y - i
— (GREEN) INSULATED NARE (TYP 7 PLACES) g ‘
STRANDED COPPER | /TP HA FINISH FLOOR | €
1#1/0. TO AREA ~| o P T | % T
GROUNDING = =
CONNECTION BOX NN i S ;Ww\
OR GRID AS SHOWN , = @S[ENOT[! RN
(EEN — ‘"‘vé G Lo e y— ANCHOR BOLTS (TYP)
' GND CONDUCTOR : Sl N BY OTHERS
ONE FOR ELEVATION S(?Rﬁgvgél)ﬁg%%;{;w 1#1/0 N ‘ LNy Laser RADIUS BEND
~ ) SECTION | v (1P
TWO CABLES FOR OTY SEE PLAN FLAN (1) @ R |
I Ny} RARETITII
NOTE: S —’ NIICIIIIIIE 3

LIST OF MATERIAL

ITEM

DESCRIPTION

LUG, #1/0-%#2/0 WIRE X /74" BOLT, BURNDY TYPE QAZ6-B

BOLT, 174"-20 x | 172"LG, HEX HD DURIUM

NUT, 174"-20 HEX DURIUM

FLAT WASHER, 174" RD DURIUM

sl 1=

LOCKWASHER, /4" SPRING DURIUM

WIRE, #8 THW SOFT DRAWN (GREEN) INSULATED STRANDED CU

GROUND HUB, MYERS SERIES STAG SIZE AS REQD

IR GSIEN AT IS

LUG, *8-#4 STR BURNDY TYPE OIKLUG 0A4C-B

CABINET OR BOX GROUNDING

(5 \Rer

LIST OF MATERIAL

|, PROTECTIVE COATING ON PIPE SHALEL BE RESTORED By FIELD.

LIST OF MATERIAL

DESCRIPTION

COPFER BUS, 1/74"X 2"X 18" OR AS RECD.

CONN., TWO #4-#2/0 WIRES-FLAT BAR, BURNDY TYPE GCM26

ANGLE, STEEL 4" X 2" X 1/4"X 2"[G

BOLT, 1/72"-13 X | 172"LG HEX HD DURIUM

NUT, 172"-13  HEX DURIUM

LOCKWASHER, 1/2" SPRING  DURIUM

MALLEABLE IRON SQUARE BEVEL WASHER /2"

CONN. ONE #4-%2/0 WIRES-FLAT BAR, BURNDY TYPE GBM26

IV~ BR[N]~
\ggr\)r\ammr\;-

PLATE 174" x 8" x 8" GALVANIZED STEEL

fIEM) ory DESCRIPTION
I AR |MOLD HORIZ #2/0-4"MAX, PIPE, CADWELD HAH-2G-350C
2 | 1 |CARTRIDGE STANDARD POWDER 90 GRAMS
3 | AR |MOLD HORIZ #2/0-10" MAX, PIPE, CADWELD HAH-2G-8C
4 | | |CARTRIDGE STANDARD POWDER 90 GRAMS
5 | I |COLD GALVANIZE-TUBE, #*7RC OR BITUMASTIC

GROUNDING CONNECTION PLATE O

6 \REF

GROUNDING CONNECTION 70

HORIZONTAL STEEL WATER PIFE (7 \per

LIST OF MATERIAL

ITEM
NO.

o7y

DESCRIPTION

LIGHTING POLE - AS SPECIFIFD

AR

CONDUIT, RIGID

CONDUIT GND BUSHING, #8 WIRE, 0.Z. TYPE ABLG

GND CONN SERVIT POST, BURNDY TYPE K2C23B/

#8 STRANDED CU THW GREEN

AR

SEALING COMPOUND, 3M BRAND CP25N/S

NI AN~

AR

SCHEDULE 40 PVC | 174" DIA CONDUIT

LIGHTING STANDARD BASE ASSEMBLY /8\ser

o)

PRSI I B S I

N T.S. \—/ N.T.S. \-—j N.T.S. \—/

é%mm - LASER INTERFEROMETER

PR =D B | \Q GRAVITATIONAL-WAVE OBSERVATORY
2 2 gt B PARSONS SITE NO. I - HANFORD, WASHINGTON
§ 7 ' | ELECTRICAL NONE |PP150969| 8094
= B [ 4-/9-96[0 ¢. | E70M | FINAL_DESIGN REVIEW & BID |00 WEST WALNUT STREET CALIFORNIA INSTITUTE OF TECHNOLOGY GROUNDING DETAILS Tl

A |10-3/-95 TOM | PRELIMINARY DESIGN REVIEW PASADENA, CALIFORNIA MASSACHUSETTS INSTITUTE OF TECHNOLOGY SHEET 2 WA-E-406 Z_él
DRAWING NO. DESCRIPTION NO. DATE BY CHKD PROJ DESCRIPTION “

5

4

/

LIGO-D960426-B-O l

LIGOWAF.BDR

ue Apr U ZL:lP:47 1996 53-136BZ  J:\PLUTSNOURUESNTI6BZN\EE406.PRF



	097.pdf

